
advanced FLOW engineering Momentum Air Intake

Instruction Manual P/N: 54-76203 / 51-76203 / 75-76203

Make: Jeep Model: Wrangler (JK) Year: 2007-2011 Engine: V6-3.8L



Label Qty. Description Part Number

A1 1 Air Filter (Pro DRY S) 21-91062 (51-76203)

A2 1 Air Filter (Pro 5R) 24-91062 (54-76203)

A3 1 Air Filter (Pro-GUARD 7) 72-91062 (75-76203)

B 1 Tube 05-76203B1

C 1 Housing 05-76203B2

D 2 Clamp, T-bolt, (3"-3-5/16") (ss) 03-50320

E 1 Clamp, T-bolt, (7"- 7-3/8”) (ss) 03-50290

F 1 Coupler, Silicone Reducer Hump           05-01305

G 1 Grommet, Rubber 03-50076

H 1 Plug, Air Box 05-00937

• Please read the entire instruction manual before proceeding.
• Ensure all components listed are present.
• If you are missing any of the components, call customer support at 951-493-7100.
• Ensure you have all necessary tools before proceeding.
• Do not attempt to work on your vehicle when the engine is hot.
• Disconnect the negative battery terminal before proceeding.

Page 2

Tools needed: 8mm, 10mm and 7/16" nut driver and 1/4" driver with 10mm deep socket.

Retain factory parts for future use.

Warranty Information available at https://afepower.com/contact#warranty



aFepower.comPage 3

H

A1/A2/A3

B

C

E

D

D
F

G



Refer to Figure A for Steps 1-6
Step 1: Disconnect the temp sensor wire.  Slide the red tab back then push down on the release lever 

(Be careful not to break the connector)   1   . 
Step 2: Loosen the clamp at the throttle body and air filter housing using an 8mm nut driver or socket.  

Remove the OE intake tube     2  .
Step 3: Disconnect the Crank Case Vent (CCV) hose at the back of the OE air box     3   .
Step 4: To remove the OE air box, pull the box straight up.   Leave OE rubber grommets in place.
Step 5: Remove the M6 bolt that secures the intake housing mounting bracket to the inner fender well 

(Save the bolt as it will be reused)     4   .
Step 6: Carefully, remove the temp sensor from the OE intake tube by pulling and twisting straight out 

(Do not bend from side to side while removing the sensor). 

Page 4

REMOVAL

1

2

23
4

Figure A



Refer to Figure B for Steps 7-9
Step 7: Slip the larger T-bolt clamp (03-50352) onto the aFe housing but do not tighten yet.

Step 8: Insert the Momentum filter into the housing and tighten T-Bolt clamp using your 10mm deep 

socket     5  . 

Step 9: Insert the housing assembly into the vehicle as shown and guide the lower housing pins into the 

OE rubber grommets.

aFepower.comPage 5

5

INSTALL

Figure B



Refer to Figure C for Steps 10-12
Step 10: Place the medium T-bolt clamp (03-50291) over the filter as shown.  Do not tighten 

  at this time     6  .

Step 11: Slip the small T-bolt clamp (03-50320) over the smaller end of the provided reducer hump 

  coupling but do not tighten.  Slip both over the throttle body as shown.  Tighten small 

T-bolt clamp at this time    7  .

Step 12: Slide the last small T-bolt clamp over the other end of the coupling as shown.  Do 

  not tighten yet   8  .

Figure C

INSTALL

Page 6

6

7

8



Refer to Figure D for Steps 13-14
Step 13: Insert the provided rubber grommet into the new aFe intake tube.

Step 14: Holding the rubber grommet from the inside, twist and insert the temp sensor into the grommet.   

 Do not bend from side to side when installing the sensor.  Using a little lubricant on the inside of 

 the rubber grommet may be helpful when performing this. 

Figure D

INSTALL

aFepower.comPage 7



Refer to Figure E for Step 15 
Step 15: Insert the aFe tube into the filter as shown.  Next rotate the other end of the tube lining it up 

with the throttle body and insert into the coupling you have previously installed. 

Page 8

Figure E

INSTALL



Step 16: Tighten medium T-Bolt clamp over tube   9  .

Step 17: Tighten small T-bolt clamp at this time   10 .

Step 18: Reinstall CCV hose in location shown    11

Step 19: Reinstall the M6 bolt you removed in step 5 through the mounting tab on the housing at this 

  time   12  .

Step 20: Reconnect the wire harness, the temp sensor and slide the red clip forward   13 .
NOTE: Place the included CARB EO sticker on or near the device on a smooth, clean surface.

EO identification label is required to pass the smog inspection.
aFepower.comPage 9

Refer to Figure F for Steps 16-20

Figure F

INSTALL

9

1011

12 13



aFepower.com

Page left blank intentionally



aFepower.com

Page left blank intentionally



®

advanced FLOW engineering, inc. 
252 Granite Street Corona, CA 92879

https://afepower.com/contact




